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[Participant ID

Participant Name

Test Center Name Vivekananda Global University
Test Date 27/01/2021

Test Time 10:30 AM - 12:00 PM

Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

5,7, 10, 14, ?

ans X118
V2 19
X317
X4 20

Q.1 Rt 71v Bwedt & 37 T & 947 i, 5 Feaead AT F we R (7) § T WM T B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113683
94891114731
94891114729
94891114732
94891114730
Answered

2




@2 ofg, sierger, oo, TR AR o aw # 9o I
M gaefrdrsoT guTaTdr

X 2 == g

< 3. gamefrdrsoT

K 4 Ty

Question ID
Option 1 ID

Option 3 ID
Option 4 ID
Status

1 9489113815

1 94891115257
Option 21D :
194891115259
1 94891115260
: Not Answered
Chosen Option :

94891115258

Q3 uw Afma g s, NAMAN 92 fomr =er &1 38 & &9 # CARPET & &7 wor fBmar

HTTIT?
Ans o 1. Q9
<2 96
<3 97
< 4 98
Question ID : 9489113702
Option 11D : 94891114808
Option 2 ID : 94891114805
Option 3 1D : 94891114806
Option 4 1D : 94891114807
Status : Not Answered
Chosen Option : --
Q4 fr v ax aF F ¥ 9 & &9 vs AYag oy ¥ =% o s ¥ 3@ ReeT o 9ae w5y St
HeT ¥ HOIF B
Ans X 1. IIRAT
( 2. m
< 3. ifgar
/< 4. SFRIAT
Question ID : 9489113693
Option 11D : 94891114770
Option 2 ID : 94891114771
Option 31D : 94891114769
Option 4 1D : 94891114772
Status : Answered
Chosen Option : 4




Q5 21,400 Fr TR W 20% S == F R ¥ 18 AF W THITE T A HATY

Ans X1 3454
< 2 3450
V'3 3448
< 4 3470
Question ID : 9489114854
Option 11D : 94891119414
Option 2 1D : 94891119413
Option 31D : 94891119415
Option 4 1D : 94891119416
Status : Answered
Chosen Option: 3
Q.6
T=eeT & g FifET)
64.916 + 1.456— 25.326 =7
Ans 1. 40.046
v 2 41.046
X 3. 40.46
< 4 4146
Question ID : 9489114847
Option 11D : 94891119388
Option 2 ID : 94891119387
Option 31D : 94891119386
Option 4 ID : 94891119385
Status : Answered
Chosen Option : 2
Q.7 Ruaw St § ¥ 39 WA F oT0S w, S St guer § 5T fEF (2) F w9 W)
TR B
ACE, HJL, 0OQS, ?
Ans 1. ZXV
<2 VWX
v VXZ
< 4 UWY
Question ID : 9489113685
Option 11D : 94891114737
Option 21D : 94891114738
Option 31D : 94891114740
Option 41D : 94891114739
Status : Answered
Chosen Option : 2




Q8 zr Fwamat 2T 25 ¥ AR IAH PG 5 ¥ AF GeHA F AT F
Ans 4
K 1
7
3
p
7
5
Y
7
6
a2
7
Question ID : 9489114865
Option 11D : 94891119459
Option 2 ID : 94891119458
Option 3 ID : 94891119457
Option 4 ID : 94891119460
Status : Answered
Chosen Option : 3
Q.9 1 y
3P tana =~ g, @ sina+ cosa & AT AT FIfeTT]
X
Ans 1 — x
p o G W
1+ x2
2x
K2
1+ x?
1 — x?
Xs =
1+ x?
14 x
Vi —
oL %
Question ID : 9489114870
Option 11D : 94891119477
Option 2 ID : 94891119480
Option 3 ID : 94891119479
Option 4 1D : 94891119478
Status : Not Answered

Chosen Option :




Q.10 % AR FAare Fr g B OGS 3 : 4 F| FHAF F S 300m? §| FHerwr F s s stz

Ans

@
X112 m, 18 m
<210 m, B m

X315 m, 25 m
V220 m, 15 m

Question ID : 9489114866
Option 11D : 94891119464
Option 2 ID : 94891119461
Option 31D : 94891119463
Option 4 ID : 94891119462
Status : Answered
Chosen Option : 4
Q11 R =r feedt # ¥ 30 300 F 9 FY, 5 R guer # v fea (7) F e W oar
TR 2l
DPX, EQY, FRZ, GSA, ?
ans X 1. BHU
< 2 HUB
< 3 BTH
v+ HTB
Question ID : 9489113684
Option 11D : 94891114735
Option 2 ID : 94891114733
Option 31D : 94891114734
Option 4 1D : 94891114736
Status : Answered
Chosen Option : 4
Q12  g.064 +0.027 ﬁﬁw
———— Sl Al Ald |
0.16—0.12 + 0.09
Ans o 1. 0.7
X2 0.16
<309
#< 4 0.09
Question ID : 9489114849
Option 11D : 94891119396
Option 2 ID : 94891119393
Option 31D : 94891119395
Option 4 1D : 94891119394
Status : Answered

Chosen Option :

1




Q.13

Ans

X
H T & EJ

X
4

,ﬁzmms%,a’rxa:rm?—rmﬁﬁm

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114872

94891119488
94891119486
94891119485
94891119487
Not Answered

Q.14 zfy 125 = ToaT B F w9 & B =T, a 55% 39 3R 87 # 3aw fhaer gee

A X109
< 2025
VR
X425
Question ID : 9489114848
Option 11D : 94891119390
Option 2 1D : 94891119392
Option 31D : 94891119391
Option 4 1D : 94891119389
Status : Answered
Chosen Option: 3
Q15 sgfem & o 100 &9 &1 36 10% 8 s & & R, 15% Fm e e g RT it 2 s fig ar &
| R % @ sgfee & o fhew dw A §2
as X115
v 2 35
<3 45
< 4 25
Question ID : 9489114856
Option 11D : 94891119424
Option 2 ID : 94891119422
Option 3 ID : 94891119423
Option 4 ID : 94891119421
Status : Answered
Chosen Option: 2




Q.16 & Fwamst @ 3 5 : 6 ¥ HY 3% Fgeaw WATETF (HCF) 6 ¥ 3w argfead @aAawd (LCM)

Ans

g HfFT)

v 1180
<2 66
<3120
<4140

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

9489114846

94891119382
94891119384
94891119381
94891119383

Status : Answered

Chosen Option :

1

Q.17 5 ¥ frae sa # Ruar feee sftfaos @ afe G ar
Ans X1 omE ATEeReT (Lord Mountbatten)

X 2 &g Jawer (Lord Wellesley)
X s amg o (Lord Lytton)
v 4 g AT (Lord Canning)

Question ID : 9489113821
Option 11D : 94891115283
Option 2 ID : 94891115281
Option 31D : 94891115282
Option 4 1D : 94891115284
Status : Answered
Chosen Option: 1
G SERRT ‘
T F-
1 i pa
25 + [20—{2((2(} x—)+—x——8)}] =3
5 g 16
Ans X126
v 2 57
X3 37
X 4 27
Question ID : 9489114852
Option 11D : 94891119407
Option 2 ID : 94891119408
Option 3 1D : 94891119406
Option 4 1D : 94891119405
Status : Answered

Chosen Option : 2




Q.19
Fafaf@a st ga fFifEw)
2 —3 1 3 4 2
(—x—————x—)x? =72
7 5 12 7
Ans _25 1
y R P i
209
, —251
v
60
—251
X
210
—251
x4
420
Question ID : 9489114850
Option 11D : 94891119400
Option 2 ID : 94891119397
Option 31D : 94891119399
Option 4 1D : 94891119398
Status : Answered
Chosen Option : 2
Q20 198 shermeT % AT A F SRAT A TE (BIP) F e WE S o
Ans X 1. 292
X 2 307
v 3 303
< 4 282
Question ID : 9489113804
Option 11D : 94891115216
Option 2 ID : 94891115215
Option 31D : 94891115213
Option 4 ID : 94891115214
Status : Not Answered

Chosen Option :




2 St T (ruby gemstone) F THITEF TITAT AT &2

Ans

X 1. AfEEs FENEs
2 Q@ﬁﬁwm
X5

X+ ardm

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113811

94891115243
94891115241
94891115244
94891115242
Not Answered

Q.22 wifterfr At FEFA Grawaaa § #9ET F AR, 2018-19 & v ava ¥ frw 1=w # Wiy @l

Ans

I g A 2
<. FATEH
X 2. gRamom

<3 e
v 4 aEr

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113842

94891115366
94891115367
94891115365
94891115368
Not Answered

Q23 g ¢ # ggel oW e T #9 gedie & MG A FF S 50 T AT TA?

Ans

< 11984
v 2 1987
31983
<4 1978

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113807

94891115225
94891115226
94891115228
94891115227
Not Answered




Q24 frw av e AR T B cuEEE T AR T F = ¥ P @y 7F e
T FT ARG # Fug H R W T 79 @ gfawe o far e afie?
aF 1: 78T, SHE g AfHe SU=EnT g S
T 2: g1, aFars & daa Aare off w §, S Ty | s iR 99 @ £

MK e FF 2 T
X2 Fae FF 1 T gl
v gt & F T g
Keogarar1iRafaTF2TeE

Question ID : 9489113682
Option 11D : 94891114726
Option 2 ID : 94891114725
Option 31D : 94891114727
Option 4 ID : 94891114728
Status : Answered
Chosen Option : 2

Q25 FRFFT AT AT T T 37 e 3T 37 210 # 6 37 A T ¥ 37 BUl 357 v
w8y AT FfET

Ans ].U'U'
v —

<2 10%

Question ID : 9489114858
Option 11D : 94891119430
Option 2 ID : 94891119432
Option 31D : 94891119429
Option 4 ID : 94891119431
Status : Answered
Chosen Option : 1




Q.26 fw =r feedt # ¥ 30 ¥aT-AAE F WS F, 7 TR guer # v Few (7) F ww W oar

HeRaT 21

DPAY, EOBX, FNCW, ?

Ans 1. VDMG
< 2 DVGM
v 3 GMDV
< 4 MGVD
Question ID : 9489113688
Option 11D : 94891114750
Option 2 ID : 94891114751
Option 31D : 94891114749
Option 4 1D : 94891114752
Status : Answered
Chosen Option : 3
¥ gofeg # IOER
Ans x
1. HTeTcH® HTUFR
X 2 Fg ofr HoR FEF
v fder R
X 4 Aifoer FRER
Question ID : 9489113829
Option 11D : 94891115315
Option 21D : 94891115316
Option 31D : 94891115314
Option 4 ID : 94891115313
Status : Answered
Chosen Option : 4
% e # arg (SN0 F Awuw AN o) sfafams w aw e
Ans - <1.1990
< 2 1975
< 3. 2000
v 4 1981
Question ID : 9489113835
Option 11D : 94891115339
Option 2 ID : 94891115337
Option 31D : 94891115340
Option 4 1D : 94891115338
Status : Not Answered

Chosen Option :




Q.29 fuw aw fawedt & & 3@ WEA F 90F Hi, A e A e F we FEw (7) F TS W oA

Ans

TFaT B

Hm oEm
)

v 1720
X2 27
X3 9
X 4 270

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113699
94891114795
94891114794
94891114793
94891114796
Answered

1

Q30 aRX - FmaT X E AT AT Y T AT A AT Y ¥ S 24+ 6/2-9%4 =

AT 7T FifeT
Ans X118
<210
s -10
X4 24
Question ID : 9489113687
Option 11D : 94891114747
Option 2 ID : 94891114748
Option 31D : 94891114746
Option 4 ID : 94891114745
Status : Answered
Chosen Option : 3
Q.31 v HEAFR How F w7 s F T 7 : 6 &1 IR guehr et swh oA w35 m FH L,
ar fe= @1 afEm AT fifem
Ans 1940 m
v 2910 m
<3930 m
<4920 m
Question ID : 9489114864
Option 11D : 94891119456
Option 2 ID : 94891119453
Option 3 ID : 94891119455
Option 4 ID : 94891119454
Status : Answered
Chosen Option : 2




Q.32 ﬂ-i-tlad-d ST F TIATE AR TEETHT TRTH (Antonio Guterres) e Zor & Fafoa &2

Ans

X wr
X2 ®H

X 3. ZEall
(4.3?&?5?{

Question ID : 9489113834
Option 11D : 94891115336
Option 2 ID : 94891115333
Option 31D : 94891115334
Option 4 ID : 94891115335
Status : Not Answered
Chosen Option : --
Q.33 = o FF % F T FAT &, T U WTAT 10% T2 T ¥ IE 6 9 A gger 7w §, &
SHF HUad F g A g
Ans ) 100
vi—0
11
X 2 100 q:’
C T D
15
X 3 100 y
R E——
120
x4 100,
R ——— ¢
16
Question ID : 9489114859
Option 11D : 94891119435
Option 2 1D : 94891119434
Option 31D : 94891119433
Option 4 1D : 94891119436
Status : Answered
Chosen Option : 1
Q.34 ws FE F 40% T AT A, E WE & 30% F o fAEe ST F W 1 FAw gger A gmd
T & FAE FE?
Ans 1.5 :2
<21:5
<321
<42:5
Question ID : 9489114857
Option 11D : 94891119428
Option 2 ID : 94891119426
Option 3 ID : 94891119427
Option 4 1D : 94891119425
Status : Answered
Chosen Option : 1




Q.35

Ans

SreEdr (GST) gl
o YT

<2 Tt &Y

X 3 9oTeT &

X 4 ITET T

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113839
94891115354
94891115355
94891115353
94891115356
Answered

1

Q.36 AT 7 F-TsF Faul ¥ FUR g 39 & A & & e e, 2007 F Fgea e & wHw

Ans

i ar?

X 1. ¥R TF arer
X 2 3 Ty 9Er
(3.@@@?&]’

K+ FmuaTuda

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113828

94891115311
94891115310
94891115309
94891115312
Not Answered

Q37 oz it T wEY 9 AR A O =0 F 9 & HR A9 e

Ans

# 1. 895592
2100000
3 109999
v 4 899999

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114844
94891119373
94891119376
94891119374
94891119375
Answered

4




* ofeeet R # gAY @Rt T e
K EEE Reafemrem, grEv (USA)

X 2 FET TR, quaT (USA)

X 3 Bawrs freafagares, guaT (USA)

v et Rreafiemmew, =q@is

Question ID : 9489113806
Option 11D : 94891115224
Option 2 ID : 94891115221
Option 31D : 94891115223
Option 4 1D : 94891115222
Status : Not Answered
Chosen Option : --

BB i &1 Fgedd TATEa® (HCF) 7ira #ifaw)

10'25"'15 5
Ans 1

(1.5
X 2
3y

<oa—

Question ID : 9489114851
Option 11D : 94891119402
Option 2 ID : 94891119401
Option 31D : 94891119403
Option 4 1D : 94891119404
Status : Answered
Chosen Option: 1




Q.40

F5 (CRY) T H9&a g, AT
K B guR

X o dvfen seH

v o Frer PR F ERETOT
X 4 RIS Afgenst

F BT &1 3T B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113843

94891115372
94891115370
94891115371
94891115369
Not Answered

Q.41 2019 # @ a1 % Tegala o WogEl 1 GUAT & ST FEH 33 & AEAA H F T e sqrwor

(underwater speech) feam ar?

s X g?-‘lé‘ (Brunei)

X 2 geelr (ltaly)

X 3. AT (Maldives)
v 4 Bdew (Seychelles)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113805

94891115220
94891115217
94891115218
94891115219
Not Answered

Q.42 s wfyurs i Fia @ g 99 AR T & Fow 9B § e # wEes w1

Ans

v Vi
<2l
X3V
24 VI

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113827
94891115307
94891115305
94891115306
94891115308
Answered

4




U8 = ¥ FF T I TG FOT (soot) F AH ¥ FA AT §7

A X FEE ArearssE
X 2 g
PaE i)
v . fafirse FutHT 9y (Particulate Matter)

Question ID : 9489113832
Option 11D : 94891115326
Option 2 ID : 94891115328
Option 3 1D : 94891115325
Option 4 ID : 94891115327
Status : Answered
Chosen Option : 3
Q.44 : b 3
8 3Uer 1929 & Fig Fue mwer # Faa g7 $eRr ar?
Ans = =
X1 TEerET H{ee Ml e faE
X 2 T v ¥fEFe d#X gFew g
v o STHIER g HR s fE
e
X 4 HTHF Iodlg @I HIT g
Question ID : 9489113819
Option 1 ID : 94891115273
Option 2 ID : 94891115276
Option 3 ID : 94891115275
Option 4 ID : 94891115274
Status : Not Answered
Chosen Option : --
Q.45 =
AT & FraaH H-HTp A ICEIEG) %I
Ans « 1 qmm = rre
X 2 g
<3 Feadt He=
X 4 e R Hee
Question ID : 9489113826
Option 11D : 94891115304
Option 2 ID : 94891115303
Option 31D : 94891115302
Option 41D : 94891115301
Status : Not Answered

Chosen Option :




46 g FoH (Patna Kalam)' w&s _ #I

e ¥ oferg we
X 2 gy Hfadr #1 aHg
X 3. 9TAT T TIRTT
v ¢ Rrseer #r &

Question ID

Option 2 ID
Option 31D
Option 4 ID

Status

: 9489113808
Option 11D :

94891115231

194891115230
194891115232
194891115229
: Not Answered
Chosen Option :

Q.47 TEAF Jefer-T-aEA/ATEATAT Ao &9 & FE smr 7 o o o

M g
Al
X o wh
X%,

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option :

19489113810

194891115240
194891115237
194891115239
194891115238
: Not Answered




Q.48 =7 37 3@ F TTT FL, S BT A0 9t F 7 F 9y Fr gofeam & T HEhg w:1ar d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113697
94891114788
94891114787
94891114786
94891114785
Answered

1

Q.49 3fy v AT FW HOA I T g Hefr gfr 30 knvh ¥ AT T AT AW 3med gfr 50 keih Y =T

Ans

¥ T F §, O swehr stwa = B g
X 1. 45 km/h

X 2 37 km/h

X 3 40 km/h

v 4 375 km/h

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114863
94891119451
94891119452
94891119449
94891119450
Answered

4




30 pherer, 37T, FeN 3k IS ¥ Th |
e K e e g@RT S AT o
v 2 16 AGTSAYST & AT &

X 3 T HATT 3910 S 7T o
X 4 T UdTEdr H [T FHIYS aRT oA o

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113817

94891115267
94891115266
94891115268
94891115265
Not Answered

Q.51 faEa 2020 &% SIod STAHAT & AR, T # ¥ 5w Tew # v wua afed sHaT (Installed

wind power capacity) F=ife® &7

s affrerarE

X 2. HgRIcg
< 3 TSI

&4 TTEITH

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489113824
94891115295
94891115296
94891115293
94891115294
Answered

1

Q.52 fy ferelr e s F REMEMBER @ 12323421 formm = &, &7 397 g€ s & MEMBER & frw

g T STE?

Ans X1, 323124
< 2123421
V'3 323421
< 4123124

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113679
94891114713
94891114714
94891114715
94891114716
Answered

3




Q.53 =fy ez UNDERSTANDING 3 3wl 1 33t qummer # 5ok %5 & Hfar omm e &, & &l @

Ans

HHT HeT F HTC?

v 1 N
X225
X3 R
X4+ G

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113701
94891114803
94891114804
94891114801
94891114802
Answered

1

¥ oETS BT SIS F T Fa gs o

Ans

X 12014
X 22005
~< 3 1989
v 4 2001

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113833

94891115331
94891115330
94891115332
94891115329
Not Answered




Q.55 forw aw wuet AR TSt # eaEe 9 ik 99 & FlF v T, A = ¥ Fuet @

FET AT E/A B

FU:

i Rfrers e €

7o e R 81

oo

1. F= TeEr Mfsees & ar-anr e of #)
2. meft et fEemer &

ANS 1 forsERY 2 HFTEIT AT §
X 2 forsey 1 HEROT T
X sy 1 3R 2 gt Fgmer = §
voFar ey 1 A T & 2 Ao Far

Question ID : 9489113694
Option 11D : 94891114774
Option 21D : 94891114773
Option 31D : 94891114775
Option 41D : 94891114776
Status : Answered
Chosen Option : 4
Q.56 =z o g Fr FA-TEE T TEES B A G aor on, S ofvater 15 s 2019 = S
AT °qT?
Ans 1. O
X 2 T
K

<3 3T

v s
Question ID : 9489113830
Option 11D : 94891115318
Option 2 ID : 94891115317
Option 31D : 94891115320
Option 4 ID : 94891115319

Status : Answered

Chosen Option : 4




Q57 IRy e T oS e Ad e, R 6, 2R e A RmE s R IRE AEA H 5

Chosen Option :

AT =T B
Ans X 1. 9976
v 2 9977
< 3 9978
< 49940
Question ID : 9489114853
Option 11D : 94891119409
Option 2 1D : 94891119411
Option 31D : 94891119410
Option 4 1D : 94891119412
Status : Answered
Chosen Option : 2
Q.58 =7 37 3@ FT T FY, A BT AT T F ¥ F G Fr TEaHT o T OERT w1 E
ARV, $RA, 3ea¢ waIT
A B C
Ans x D
v 2 A
XsC
< 4B
Question ID : 9489113698
Option 11D : 94891114792
Option 2 1D : 94891114789
Option 31D : 94891114791
Option 4 1D : 94891114790
Status : Answered
Chosen Option : 2
Q59 1919 & xfEe 9aRST WaTha TERT e WS AT T ar?
Ans «
1. m
< 2 FmefeeR
X 3. AGrH
X+ ga5
Question ID : 9489113818
Option 11D : 94891115270
Option 2 ID : 94891115271
Option 3 1D : 94891115272
Option 4 1D : 94891115269
Status : Not Answered




90 eremeT (Rods) 31 9% (cone) RrHT F ar$ s &
Ans x
1. Tdepd
X 2 afEgss
v 3 afEt
<4 At
Question ID : 9489113814
Option 11D : 94891115256
Option 2 ID : 94891115253
Option 31D : 94891115254
Option 4 ID : 94891115255
Status : Not Answered
Chosen Option : --
Q.61 A ww w7 &1 16 Rt & @+ Fove & AR B 38 F4 7 A g@ fBw aIv FHT & v S wET
# I W TR ¥ T @Y R FE WA W, ¥ 0 A F 50 F F A o 90 ST @ €7
Ans 1
1
8
1
2
16
. &
« 3. it
16
9
Xa
16
Question ID : 9489114861
Option 11D : 94891119444
Option 2 1D : 94891119443
Option 31D : 94891119441
Option 4 ID : 94891119442
Status : Answered
Chosen Option : 3




Ans X 1.1:2:3
X21:2:86
Xa2:12:1
v4i1:2:12
Question ID : 9489114855
Option 11D : 94891119417
Option 2 1D : 94891119418
Option 3 ID : 94891119420
Option 4 ID : 94891119419
Status : Answered
Chosen Option : 4
Q63 iy et e RIS ¥ 3eadTd STe-ate FINER F@ & F@ aF &7
Ans g
v fBeER @ 9§t %
X 2 FIeTeRrar B 9EET TF
K o FIFHA W HIS TF
4.
X 4. IETGIET ¥ TEANHT deh
Question ID : 9489113840
Option 11D : 94891115359
Option 2 ID : 94891115357
Option 3 1D : 94891115360
Option 4 ID : 94891115358
Status : Answered
Chosen Option : 3
Q.64 s
o &1 ot +:2
1 1 1 1
+ + + -+
V2441 V3 +42 V4+43 V100 + 99
Ans X 1.3
<2 4
V39
<410
Question ID : 9489114845
Option 11D : 94891119379
Option 2 ID : 94891119380
Option 31D : 94891119378
Option 4 ID : 94891119377
Status : Answered

Chosen Option : 3




Q.65 faeir fdrw me o #, TEACHER & REHCAET Tr@T J1ar &, & 361 % swr & wreg STUDENT &t

e ger BT Sreen?

Ans of 1. TNEDUTS

#< 2. TNESTUD

« 3 ENTTUDS

&< 4 STUDTNE
Question ID : 9489113675
Option 11D : 94891114698
Option 2 1D : 94891114700
Option 31D : 94891114699
Option 4 1D : 94891114697

Status : Answered
Chosen Option: 1
Q66 yg ¥ FTagE S TOE, ST ST TAT F; F A ¥ of ST =TT B

Ans

X 2 IAT T 9919 (Yenna Falls)
2 ITFAT ST 99T (Gersoppa Falls)

X 4 TAE ST J9TT (Chachai Falls)

X . 9EEg S 997 (Shivasamudra Falls)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113823

94891115291
94891115289
94891115290
94891115292
Not Answered

¥ DT & ¥ 9 @ wdT a9 T ¥
Ans x1‘:[9-ﬁ!'3]€

2. 3T TG

X 3 HITT TE

X o UF TE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489113813
94891115251
94891115252
94891115249
94891115250
Answered

2




Q68 gy (CPU) &7 i W1 REET F5ogeX & Tl F1af &7 THeTd ey 2

Ans X 7 h §
X 2 A3HE
X o Prars
« 4. Eala qﬂfﬁa
Question ID : 9489113837
Option 11D : 94891115347
Option 2 ID : 94891115345
Option 31D : 94891115346
Option 4 ID : 94891115348
Status : Answered
Chosen Option : 4
Q.69 : + +
g 7 ¥ &8 9ol & &0 # 39 9953 29 27
Ans
X 1. ST (Sparrow)
X 2 ;ﬁE (Rohu)
X 3. fEer ¥ (Sting Ray)
v o gremHsT (Salamander)
Question ID : 9489113816
Option 11D : 94891115264
Option 21D : 94891115263
Option 31D : 94891115262
Option 41D : 94891115261
Status : Not Answered
Chosen Option : --
Q.70 30 feer amer vk A % BT v gEeR GERT s Avew Efe o 2450 wmi afy 9w 20 R &
T arer =meT 2300 oM, & AR 10 R & T Ay e Ja e
Ans X 1. 3500
v 2 3750
< 3 3250
< 4 3260
Question ID : 9489114873
Option 11D : 94891119490
Option 2 1D : 94891119489
Option 31D : 94891119491
Option 4 ID : 94891119492
Status : Not Answered

Chosen Option :




Q71 fysr ABC &, #1071 2 : 3 : 4 & 39 & &| Ta¥ &3 Ho7 &7 A9 e F w9 Ao
Ans X 1. 150°

v 2 80°
K3.120°
X 4 100°
Question ID : 9489114869
Option 11D : 94891119474
Option 2 1D : 94891119476
Option 31D : 94891119473
Option 4 ID : 94891119475
Status : Answered
Chosen Option: 2
Q.72 . - :
= s Aferwr &AOr . # R amam am
Ans %
X 1. gEr-enYe el Fr arrgwen
3
X 2 Tg A F arEgeen
v o AT Al aTEgeRen
X+ gfas o= Fr aERT
Question ID : 9489113809
Option 11D : 94891115236
Option 2 ID : 94891115235
Option 31D : 94891115234
Option 4 ID : 94891115233
Status : Not Answered
Chosen Option : --
Q.73 vs e HE 30 ft. FT UF g T O W STH A RWE T a5 T 0 A §| Ay dgre
T & her 690 sq. ft. §, A Baw e (ft) aTs & maezeRar g
Ans 1. 76
< 2 69
<3 B9
X 4 46
Question ID : 9489114871
Option 11D : 94891119481
Option 2 ID : 94891119483
Option 31D : 94891119484
Option 4 ID : 94891119482
Status : Answered
Chosen Option: 1




Q.74 msm@mﬁ,ﬁﬁﬁ1:30ﬁmﬁmﬁr%&ﬁ¢10:30ﬁmmq§aﬁré|
Yo F 3T = 90 kmvh B TeETE gE R & sEeE % 99 i o gt e 37

Ans  of' 1810 km
X 2 750 km
X 3 830 km
X 4 800 km

Question ID : 9489114862
Option 11D : 94891119447
Option 2 ID : 94891119445
Option 31D : 94891119448
Option 4 ID : 94891119446
Status : Answered
Chosen Option: 1

O afx sinA=E g, @ cosA FT AT AT ST

b

XZ.E

a
b

Xa_ 2
az + b?

v B — a2
b

Question ID : 9489114868
Option 11D : 94891119471
Option 2 ID : 94891119472
Option 31D : 94891119469
Option 4 1D : 94891119470
Status : Answered
Chosen Option : 4




7 e ufda ¥ gela ¥

Ans

A1 oo \@euT
V' 2 9T F TE-Hearse g F WUH Siefor
X< 3 TrEETr F gatedeoT

X 4 grATees 9 ¥ o F97 Fr caraatas gidrsor

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
12

Chosen Option

9489113831
94891115323
94891115321
94891115322
94891115324
Answered

Q.77 TF HFUS HUROT S W 4 T 4 7 F IR @ e 81 7 e www # & e g Sreene

Ans

X1 8%
v 8say

X 3. 8%3’&
X a 3§ET§'

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489114860

94891119440
94891119437
94891119438
94891119439
Not Answered

W SEEtfRT F ¥ FE-d e e S R

Ans

X 1. gHTee (Basalt)

X 2 @HRmEe (Diorite)
X 3. FAEe (Granite)

« + grerAree (Dolomite)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113822

94891115285
94891115287
94891115286
94891115288
Not Answered




Q.79 A =g ®IH F ‘Fad¥ 9Nd # HEAS @IHR (Provisional Government of Free India) & 8T gl

R ar?
Ans . FeATIT

X 2 FHT
X 3 arselE
W o BT

b

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113820

94891115277
94891115279
94891115278
94891115280
Not Answered

Q.80

A (spam) TF gl
Ans « 1 *% éﬁﬂ-
X 2 WANR HHE

X 3 HIEe s
X 4 Ui
Question ID : 9489113836
Option 11D : 94891115344
Option 2 ID : 94891115341
Option 31D : 94891115343
Option 4 1D : 94891115342
Status : Answered
Chosen Option: 1
Q8T ZAfy (NITI) T & 3Tesl & 3R, 2016 F #RT T Fo Toiaed & T M2
Ans X113
<233
V323
<4 38
Question ID : 9489113825
Option 11D : 94891115299
Option 2 ID : 94891115297
Option 31D : 94891115298
Option 4 1D : 94891115300
Status : Not Answered

Chosen Option :




Q.82 = Frt w2 g=fEot & fi= v ST A =E= &5 (lubricating fluid) =T FaT ST 2
A o L :
" ¥ tARATREE weEs (Amniotic fluid)
X 2 BREETSae weEs (Cerebrospinal fluid)
3. SETESTATS iti i
~< Felgs (Interstitial fluid)
v & WESATETS Folgs (Synovial fluid)
Question ID : 9489113812
Option 11D : 94891115245
Option 2 ID : 94891115248
Option 31D : 94891115246
Option 4 ID : 94891115247
Status : Not Answered
Chosen Option : --
Q8 yeiew e TS F 3TET TE e 9T 390 2
Al
" K029 gfT RRer
v 2 33 9fy Far
X 3 35 gfy forar
< 4 32 gfy et
Question ID : 9489113841
Option 11D : 94891115364
Option 21D : 94891115361
Option 31D : 94891115363
Option 41D : 94891115362
Status : Not Answered
Chosen Option : --
Q.84 i
FFIE AeeEer A, ALU & 90T & 7 872
Ans . : ' .
X 1. TeeiR Wit gfae (Application Logical Unit)
X 2 uiged &g AT (Active Load Unit)
X 3 TIT o JfAT (Air Lock Unit)
v . sfteAfeE Ao gfAe (Arithmetic Logic Unit)
Question ID : 9489113838
Option 1 ID : 94891115351
Option 2 ID : 94891115352
Option 3 ID : 94891115350
Option 4 1D : 94891115349
Status : Not Answered

Chosen Option :




Q.85 v ama Fr SEE TEE TTE W 1 cm T ¥ THET T 14 cm ¥ ITT FT ATET AT AT
Ans X116 cm?

< 2 24 cm?

V'3 12 cm?

< 4 28 cm?

Question ID : 9489114867
Option 11D : 94891119465
Option 2 1D : 94891119468
Option 31D : 94891119467
Option 4 ID : 94891119466
Status : Answered
Chosen Option : 3

Q.86 & g arv i =E # yonew wEEE & 5 A et @ g mr §1 e @ wewms F s
0% a5 BT 1T 99 T 3eaT &

Transportation
Cost of Paper,

\ 18%
Printing Cost, \
0% \ Miscellaneous,
a%

Advertisment
Charges, 12%

Authors
Royalities, 24%

Teal: transportation (ITIEEHT), cost of paper (F9T HT A9TE), miscellaneous (FTFer), binder's charge
(a1S=T @7 o), advertisement charges (R=T9e ¥#1), authors royalty (fr@e @ =), printing
cost (FS0T )

afE e Fr Tuedr Hr Tfr 224,000 ¥, S FEMS W A T @G Fhaar (2 #) g
Ans 1,324,000

< 2.212,000
« 3 218,000
< 4 217,000

Question ID : 9489113689
Option 11D : 94891114756
Option 2 ID : 94891114753
Option 31D : 94891114754
Option 4 ID : 94891114755
Status : Answered
Chosen Option: 3




Q.87 Frr R v W€ = F yenew wEwE ¥ E e wet @ @t {1 e & wewm w5

% a5 T 7T WA T e &

Transportation
% Cost of Paper,

18%
Printing Cost, \
0% \ Miscellaneous,
a%

9] Binder's
flcharges, 10%

Advertisment
Charges, 12%

Authors
Royalities, 24%

Teal: transportation (T7¥EEHT), cost of paper (T #T AFTE), miscellaneous (Ffae), binders charge
(TS &1 gew), advertisement charges (FHATA WIR), authors royalty (Sr@e &7 T@edY), printing

cost (FF0T =)

o FFOT o T TR 230,000 B, o TEIF FT THNT FI H HA AT G ST el G

Ans X1.210,000
< 229,000
< 3. 230,000
+ 4 21,00,000

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113690
94891114760
94891114757
94891114758
94891114759
Answered

4




Q.88 & R v o = F ywnew wwEEE ¥ g e wet A v {1 e # wewm w5

Ans

>T% ag BT 7T T T s &

Transportation
- 2%

Cost of Paper,
18%

Miscellaneous,

Advertisment
Charges, 12%

Authors
Royalities, 24%

Teal: transportation (I7¥EET), cost of paper (T #T AFTE), miscellaneous (fae), binders charge
(ST &1 gew), advertisement charges (TRHTA W), authors royalty (Sr@e #T TaredY), printing

cost (FS0T )

ofy Fa% F wERE # HR T F @9 22,50,000 B, A FEoT e 3 o F daedr # g ufr

foreetr gt

« 1.21,30,000
~< 2 21,03,000
#< 3 21,53,000
'+ 21,35,000

Question ID :
Option 11D :
Option 21D :

Option 3 ID
Option 4 ID
Status

Chosen Option

9489113691
94891114763
94891114761

194891114762
194891114764
: Answered

14




Q.89 & R v Wi = F yenew wEEE ¥ E e wet @ v {1 A & wewm S osi

Transportation

Printing Cost,
0%

Authors
Royalities, 24%

3 18%
\ Miscellaneous,
%

0% a1 BT o WA T 3o &

Cost of Paper,

oy Binders
dll| charges, 10%

Advertisment
Charges, 12%

faferer gaRt (miscellaneous charges) & v &fAT gea@s # FH7 Fror g gem?

TeaT: transportation (ITEET), cost of paper (T &#T AFTE), miscellaneous (FfEer), binders charge
(ATS=T &7 =), advertisement charges (RHTe ¥I), authors royalty (Fr@e #T =), printing
cost (FS0T )

Ans XK1 124°
X272°
X3 6.4°
v 4 14.4°
Question ID : 9489113692
Option 11D : 94891114767
Option 2 1D : 94891114766
Option 31D : 94891114768
Option 4 1D : 94891114765
Status : Answered
Chosen Option : 4
Q.90 fw aw fawredt & ¥ 3F@ TTA F 9T HY, A T AFE 4@ F 7oA FF T (7) F WE W AT
TeralT B
Ans X 1155
< 2 150
v 3 145
<4129
Question ID : 9489113700
Option 11D : 94891114798
Option 2 ID : 94891114800
Option 31D : 94891114799
Option 4 1D : 94891114797
Status : Answered
Chosen Option: 3




Q.91 R =r feedt # ¥ 30 ¥a-AaE 7 0 FY, F TR guer # v frew (7) F e W oar

HeRaT 21

G7H, 194, K11L, ?

ans X1 O15P
< 2 N140
<3 L12M
v 4 M13N
Question ID : 9489113686
Option 11D : 94891114744
Option 2 ID : 94891114743
Option 3 ID : 94891114741
Option 4 ID : 94891114742
Status : Answered
Chosen Option : 4
Q92 Ffg X, YHraga g, Z YH AT A Zaw Rar § it B, A ST A &, o X & A ¥ a1 gay 87
Ans
1.
Ko g
X 2 Rgr #r a&r
v"' 3. ':F-if @T q §[
3 3
X4 Rar & Rar
Question ID : 9489113676
Option 11D : 94891114703
Option 2 ID : 94891114701
Option 31D : 94891114704
Option 4 ID : 94891114702
Status : Answered
Chosen Option: 3
Q.93 ofy =l %= o & BREAK &1 YIVZP formm =ier &, & 33 %z s & MANGO &t fra ve forr
STTE?
Ans X 1. NBNPL
#< 2. NBLSP
'3 NZMTL
X 4 NZOTP
Question ID : 9489113674
Option 11D : 94891114696
Option 2 1D : 94891114694
Option 3 ID : 94891114695
Option 41D : 94891114693
Status : Answered
Chosen Option : 3




Q.94 37 37 3@ F TTT FL, S BT A0 9t F S99 F g9y F7 gofeam & T Hehg w:1ar d

AT, He, 3Tl

D
Ans x 1. B
< 2D
X3 A
vicC
Question ID : 9489113696
Option 11D : 94891114782
Option 2 ID : 94891114784
Option 31D : 94891114781
Option 4 ID : 94891114783
Status : Answered
Chosen Option : 4
Q.95 v v Fum R Tl Fr T o T FAC TR G v et § ¥ FF ovd waw # TR
]
FU:
g off TSg IR o HIeA AT @ B
o=y
1. 29T % AR HATeEr g 7T &
2.7t off v F R smanas wi aEget # 3 R A e e T g
Ans
Xiomarfassy lor 1l BT ?
X 2 ey | AT g
XKooy | il gar & PR &
v ey || AT B
Question ID : 9489113681
Option 11D : 94891114724
Option 2 1D : 94891114721
Option 31D : 94891114723
Option 4 1D : 94891114722
Status : Not Answered
Chosen Option : --




Q.96 2w arv Rasredt H ¥ I GEAT F AAT L, I A A # woF RES (7) F TS W M wEAT B

Ans

16

8 126

192

X112
v 11
X313
X414

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

1 9489113703

194891114810
1 94891114809
194891114811
194891114812
: Not Answered
Chosen Option :

Q.97 fqv wv faweut # ¥ 3W TEA F ATS FY, SrEE IHh BT ¥ T H@e g, S g@d s v gy

Ans

e TR

Bi2B 2T i
X< 1. 50
X 2 49
X3 53
v 52

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113678

94891114710
94891114711
94891114712
94891114709
Not Answered




Q98 1w, a1 o1$ &, AEw, TH F B §, Ve, vl F a8 ¢, e, ww # O §, o dem &

T/ B E7
Ans «14 nypey

X 2 IUTH

<3 AT

K4 gqadq

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113680

94891114717
94891114718
94891114719
94891114720
Not Answered

Q.99 M3 gehee ar Fw grAT # F A= T gER F @od § efR v e 1 e & 9ae

Hifav

Ans o115, 30
<24, 23
X318, 85
< 46, 35

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

1 9489113695

194891114779
194891114777
194891114780
194891114778
: Not Answered
Chosen Option :




Q.100 v =1 Fuet AR fwe! @1 comgEs 9E1 FUAr & & T AFHEL B HA AT O AR F S &
Tg TS A9 qxt § e i @ @ 3 aa & o= FiF v T, g @ w
FUAT FT AT T T R

FUF 11 O oA A g
FUT 2 T IR A 2
et 1: 75 ek g B
=y 2: 7o A= A §

e X Far rsey 13k T8 By 2 e s=ar &
v 2 Faer fasay 2 9ree AT 2
X 3 Faer TrHy 1 UTaT FIAT ¢
X o € 1 qur 2 ST 9T S 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113677

94891114708
94891114706
94891114705
94891114707
Not Answered
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